H BB o

20254 2H 2H (H)

(g g R 4 PR gapE | GROSS| HDCP | NET wm oz
B B A B 45 = 42 | 87 |21.0 | 66.0
YR | =K BEK 46 50 | 96 132.0| 64.0
AT | R [EE 42 1 42 | 84 |16.0 | 68.0
AT | R FE A7 44 | 91 122.01 69.0
,,,,, s | Ak HE | 44 41 | 8 150 700
60L | . FlE 48 © 48 96 | 26.0| 70.0
AL | IR SR 50 47 97 127.0| 70.0
SAL| /MR BEHER AT 43 90 1 18.0| 72.0
ofi | =& K 46 47 93 121.0| 72.0
Clofi Ak HA |49 46| 95 230 720
IREVAN SN 53 © 54 | 107 [34.0 | 73.0
1207 | FEsy  —H© 50 44 | 94 120.0 | 74.0
1367 | JiH  ER 51 @ 52 | 103 | 29.0 | 74.0
1407 | ] 5Lk 50 46 | 96 |21.0 | 75.0
15| A ey | 48 470 ] 95190/ 76.0)
1647 | K 2t 52~ 50 102 | 26.0 | 76.0
1707 | IIBR R 51 =~ 51 102 | 26.0 | 76.0
18 | Kt  — I 53 48 101 123.0| 78.0
1902 | K& JRF] 52 52 104 [26.0 78.0
20f | feE k@ | 48 48 | 96 17.0 79.00
2100 s E 45 ¢ 51 96 |17.0 ] 79.0
220 | FoUH U 47 = 53 100 | 20.0 | 80.0
2307 KPE S 46 = 55 101 120.0| 81.0
2407 | IAKT  TEFE 52 | 68 120 [38.0 | 82.0
oobfr k¥ O ] 54 b4 108 123.0 8.0,
2600 | B FHi 60 = 64 124 127.0 | 97.0
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e M R Sl



